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6 2,902,424 24,145 2,878,279
2,902,424 24,145 2,878,279

8 2,803 1,042 3,845
2,803 1,042 3,845

10 371,454 12,274 359,180
371,454 12,274 359,180

12 26 20,500 20,526
4 10,500 10,504

21 10,000 10,021

3,887,370 14,877 3,872,493




113,388 1,434 111,954
109,893 1,434 108,459
2,833,420 13,176 2,820,244
2,434,650 11,916 2,422,734
390,400 0 390,400
7,150 1,260 5,890
789,228 0 789,228
557,842 0 557,842
53,226 0 53,226
20,906 0 20,906
32,320 0 32,320
2,803 1,042 3,845
2,803 1,042 3,845
63,351 1,309 62,042
7,255 1,309 5,946
3,887,370 14,877 3,872,493




6 2,902,424 24,145 2,878,279
8 2,803 1,042 3,845
10 371,454 12,274 359,180
12 26 20,500 20,526
3,887,370 14,877 3,872,493




113,388 1,434 111,954 0 1,434
2,833,420 13,176 2,820,244 23,034 9,858
789,228 0 789,228 325 325
53,226 0 53,226 127 127
2,803 1,042 3,845 0 1,042
63,351 1,309 62,042 1,309 0
3,887,370 14,877 3,872,493 24,145 9,268




1 2,902,424 24,145 2,878,279 23,765 2,849,463 + 23,765 = 2,825,698

380
14,567 + 2,788 = 17,355
14,567 + 2,788 = 17,355
20,000 + 2,463 = 17,537
20,000 + 2,463 = 17,537
500 + 604 = 1,104
500 + 604 = 1,104
7,254 + 1,309 = 5,945
7,254 + 1,309 = 5,945
52,961 + 380 = 52,581

2,902,424 24,145 2,878,279
8

2 2,803 1,042 3,845 1,042
2,803 + 1,042 = 3,845
2,803 + 1,042 = 3,845
2,803 + 1,042 = 3,845

2,803 1,042 3,845
10
1 371,454 12,274 359,180 1,434




10

91,309 + 1,434 89,875
91,309 + 1,434 89,875
91,309 + 1,434 89,875

840
4,760 + 840 3,920
4,760 + 840 3,920
4,760 + 840 3,920

10,000
21,404 + 10,000 11,404
21,404 + 10,000 11,404
21,404 + 10,000 11,404

371,454 12,274 359,180
12

1 1 10,000 10,001 10,000
1+ 10,000 10,001
1+ 10,000 10,001
+ 10,000 10,001

2 1 500 501 500
1+ 500 501
1+ 500 501
+ 500 501

4 10,500 10,504
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5 2 5,000 5,002 5,000
5,000 = 5,001
5,000 = 5,001
5,000 = 5,002
7 1 5,000 5,001 5,000
5,000 = 5,001
5,000 = 5,001
5,000 = 5,001
21 10,000 10,021




107,918 1,434 106,484 2 640
11,434 45,346 + 640 = 44,706
45,346 + 640 = 44,706
10,000 45,346 + 640 = 44,706
4 794
14,097 + 794 = 13,303
14,007 + 794 = 13,303
14,007 + 794 = 13,303
109,893 1,434 108,459 0 1,434
2,410,000 11,916/ 2,398,084 18 11,916
11,916
2,410,000 + 11,916 = 2,398,084
2,410,000 + 11,916 = 2,398,084
2,410,000 + 11,916 = 2,398,084
17,550 0 17,550
3,858 3,858
2,434,650 11,916 2,422,734 15,774 3,858
390,000 0 390,000




6,000 6,000
390,400 0 390,400 6,000 6,000
7,140 1,260 5,880 18 1,260
1,260
7,140 + 1,260 = 5,880
7,140 + 1,260 = 5,880
7,140 + 1,260 = 5,880
7,150 1,260 5,890 1,260 0
556,416 0 556,416
325 840
515
557,842 0 557,842 325 325
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3,030 0 3,030 127
127
17,876 0 17,876 604
604
20,906 0 20,906 604 127 731
32,320 0 32,320 731
731
32,320 0 32,320 731 0 731
2,803 1,042 3,845 24 1,042
1,042 2,803 + 1,042 = 3,845
2,803 + 1,042 = 3,845
2,803 + 1,042 = 3,845
2,803 1,042 3,845 0 1,042 0
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7,254 1,309 5,945 27 1,309
1,309
7,254 + 1,309 = 5,945
7,254 + 1,309 = 5,945
7,254 + 1,309 = 5,945
7,255 1,309 5,946 1,309 0
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